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He found it tied to a pouch or a purse, etc.

OVERVIEW
The X072 teaches that if one found a v3 (which he lost) tied to a pouch, etc. it is a
valid vix. Our NdOIN discusses whether we can derive from this that X077 1°11°0.
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In the last P15 of ny2° Noon, the X7 infers from this XnN»02 that RAINT 950 —

mooin asks:
= 192997 IN RIIIINT 123950 N 19 NIVIIN (5,13 97 xprsn x33) MININN 1IN 99937 NN

And it is astounding for in nIX°3% oKX Pa5, the X3 queries whether 171290 are

RNSSTIRT or 13397 -
- 119 91 N

And the X3 in »"2 does not cite this xn>>2 which proves that Xn>>RT 132°0?!

nBoIN answers:
= 19297 D120 Y920 1NDIDT P012) ININ dNNIT MNAT RIPDNIT PNYY 13929 9IIN)

And the >''9 says that in the conclusion of the X713 in N3, he cites 2°81n (who
seemingly disagree whether Xn*7KX7 1°12°0 or 131277) and the X 3 concludes there

(in the X7 X2°X) that all the 2°X1n maintain 33397 °31239; according to that X3pon -
= 235y NYavn PNV DYTY VIV 19591 %91 N30 1) NN’ TH7T SWIIN9Y NIIN

We can explain that this Xn>92 also maintains that 71277 11°0 and for instance

there are witnesses that the pouch or the ring were his (the person who lost the v3) -
= NTAN ND 97N 2P INT 11992 AN 1YY AV 999139 1INV INSNY IN

Or that the person who lost it found it himself and he recognizes it that they
belong to him, and he is believed with a %, for he could have said I never lost
it —

nooIn responds to an anticipated difficulty:?
= NNPIINT 230207 N3 P1912Y 5¥32 NINT RIPIYN)

' We are divorcing this woman with a v3 that the only way we assume that it is hers is because of the 120 that it was
tied to the "1 0°2. We are trusting an Xn»X7 MO°K of WK NWR to be resolved by a n°0; proving that Xn»MRT 1°11°0.

2 We are not basing it on 12°0 (that he merely stated that it was tied to this 131 03, but rather the 07y testify that the
0" belongs to him.

3 How could the X3 derive from this Xn>12 that Xn»7IX7 710 when the Xn12 may be discussing either of the two
cases, which n1voIn just mentioned?
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And initially when the X772 wished to infer from this Xn>72 that Xn9IRT 193120 -
2T 1290 279 LY 115D 199971712 9NN INSNPYI 299INT ID yNRYN NN

It seemed to the X7nx that the Xn»72 is discussing a case where someone else

found it (not the loser), and we return it to the owner through this 3%°% (and not
through 0°7y), therefore we can infer that Xn»9IX7 1°12°0, but in truth it can be either that he found
it himself or 0*7V testify.

SUMMARY

If the &n»72 of ©°22 7Wp IRX¥M is in a case where another found it and it was
returned based on 7°12°0, we can derive that Rn7K7 7°12°0, however it may be
where the owner found it, or 2>7v testify (regarding the 0°2) in which case we can
maintain 1277 1°I»°0.

THINKING IT OVER
Is 121 0722 WP W¥» a case of pPrIam 1°0 or not?*

4 See MK A"7 X,0p M2 'O,
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